

Vendor ID: 10003500

City of San Diego PURCHASE ORDER

PO No. 4500104360

Date: 09/05/2018 Page 1 of 8

Ship To:

LIBRARY-CENTRAL CENTRAL LIBRARY-BUSNSS OFFC 330 PARK BLVD San Diego CA 92101-7416 Bill To:

Telephone: 760-650-3120 E-Mail: info@westturf.com

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to Billing Contact person at Bill-To address listed above

LIBRARY DEPARTMENT 330 PARK BLVD SAN DIEGO CA 92101 Billing Contact: ROSITA RAVELO

Telephone:

E-Mail:rravelo@sandiego.gov

Vendor: Westturf Landscape Maintenance

PO Box 1706

Vista CA 92085-1706

Terms:

within 20 days 1 % cash discount

Delivery Terms:

FOB FREE ON BOARD

Buyer: Robert Patmon **Telephone:** 619-236-6338

E-Mail: RLPatmon@sandiego.gov

Item ID/Description Quantity/Ord UoM Unit Price/Prc UoM Del.Date **Extended Price** Line# Serv# **Service Description Conv Factor** College-Rolando Branch Library 06/30/2019 12 MON 580 00 MON USD 6.960.00 1 Landscape maintenance services for the period July 1, 2017to June 30, 2019 per Agreement #460002398, Item 2. Item partially delivered Oak Park Branch Library 06/30/2019 12 MON USD 4,920.00 410.00 MON Landscape maintenance services for the period July 1, 2018 to June 30, 2019 per Agreement #460002398 per Agreement #460002398, Item 3. Item partially delivered Paradise Hills Branch Library USD 3 06/30/2019 12 MON 460.00 MON 5.520.00 Landscape maintenance services for the period July 1, 2017to June 30, 2019 per Agreement #460002398, Item #4. Item partially delivered USD Skyline Hills Branch Library 06/30/2019 12 MON 6 240 00 4 520.00 MON Landscape maintenance services for the period July 1, 018 to June 30 2019 per Agreement #460002398, Item #5. Item partially delivered 5 Logan Heights Branch Library 06/30/2019 12 MON 722.00 MON USD 8,664.00 Landscape maintenance services for the period July 1, 2017to June 30, 2019 per Agreement #460002398, Item #6. **** Item partially delivered The Terms and Conditions of this Purchase Order are available at http://www.sandiego.gov/purchasing/vendor **SEE LAST PAGE FOR TOTAL IMPORTANT!**



PO No. 4500104360

Date: 09/05/2018

Page 2 of 8

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/P Conv Fa		Extend	ded Price
6	Mission Hills Branch Library	06/30/2019	12 MON	351.00	MON	USD	4,212.00
***	Landscape maintenance services for the period July 1, 2017to July 2019 per Agreement #460002398, Item #7. Item partially delivered	une 30,					
7	North Park Branch Library	06/30/2019	12 MON	420.00	MON	USD	5,040.00
***	Landscape maintenance services for the period July 1, 2017to July 2019 per Agreement #460002398, Item #8. Item partially delivered	une 30,					
8	Ocean Beach Branch Library	06/30/2019	12 MON	532.00	MON	USD	6,384.00
	Landscape maintenance services for the period July 1, 2017to July 2019 per Agreement #460002398, Item #9.	une 30,					
***	Item partially delivered						
9	Point Loma/Hervey Branch Library	06/30/2019	12 MON	620.00	MON	USD	7,440.00
***	Landscape maintenance services for the period July 1, 2018 to J 2019 per Agreement #460002398, Item #10. Item partially delivered	lune 30,					
40		00/00/0040	40, 1101				4 000 00
10	University Heights Branch Library Landscape maintenance services for the period July 1, 2018 to J 2019 per Agreement #460002398, Item 11.	06/30/2019 June 30,	12 MON	360.00	MON	USD	4,320.00
***	Item partially delivered						
11	Allied Gardens/Benjamin Branch Library	06/30/2019	12 MON	700.00	MON	USD	8,400.00
	Landscape maintenance services for the period July 1, 2018 to J 2019 per Agreement #460002398, Item 12.	lune 30,					
***	Item partially delivered						
12	Linda Vista Branch Library	06/30/2019	12 MON	460.00	MON	USD	5,520.00
	Landscape maintenance services for the period July 1, 2018 to J 2019 per Agreement #460002398, Item 13.	lune 30,					
***	Item partially delivered						
13	Clairemont Branch Library	06/30/2019	12 MON	680.00	MON	USD	8,160.00
The Term	ns and Conditions of this Purchase Order are available at htt	tp://www.sandiego.g	ov/purchasing/vendor	SEE	ELA	ST F	PAGE
	IMPORTANT!	ents and invoices;		F	OR	TOT	AL



PO No. 4500104360

Date: 09/05/2018

Page 3 of 8

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 14.	June 30,			
***	Item partially delivered				
14	San Carlos Branch Library	06/30/2019	12 MON	460.00 MON	USD 5,520.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 15.	June 30,			
***	Item partially delivered				
15	Balboa Branch Library	06/30/2019	12 MON	380.00 MON	USD 4,560.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 15.	June 30,			
***	Item partially delivered				
16	La Jolla/Riford Branch Library	06/30/2019	12 MON	600.00 MON	USD 7,200.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 17.	June 30,			
***	Item partially delivered				
17	North Clairemont Branch Library	06/30/2019	12 MON	580.00 MON	USD 6,960.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 18.	June 30,			
***	Item partially delivered				
18	University Community Branch Library	06/30/2019	12 MON	607.00 MON	USD 7,284.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 19.	June 30,			
***	Item partially delivered				
19	Pacific Beach/Taylor Branch Library	06/30/2019	12 MON	980.00 MON	USD 11,760.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 20.	June 30,			
The Term	s and Conditions of this Purchase Order are available at h	ttp://www.sandiego.g	ov/purchasing/vendor	QEE I A	ST PAGE
	IMPORTANT!				TOTAL



PO No. 4500104360

Date: 09/05/2018

Page 4 of 8

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exten	ded Price
***	Item partially delivered					
20	Valencia Park/Malcolm X Branch Library	06/30/2019	12 MON	460.00 MON	USD	5,520.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 21.	June 30,				
****	Item partially delivered					
21	Otay Mesa-Nestor Branch Library	06/30/2019	12 MON	807.00 MON	USD	9,684.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 22.	June 30,				
***	Item partially delivered					
22	Carmel Valley Branch Library	06/30/2019	12 MON	745.00 MON	USD	8,940.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 23.	June 30,				
***	Item partially delivered					
23	Rancho Bernardo Branch Library	06/30/2019	12 MON	521.00 MON	USD	6,252.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 24.	June 30,				
***	Item partially delivered					
24	Carmel Mountain Ranch Branch Library	06/30/2019	12 MON	920.00 MON	USD	11,040.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 25.	June 30,				
***	Item partially delivered					
25	Parking Lot Adjacent to Linda Vista Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 26.	06/30/2019 June 30,	12 MON	180.00 MON	USD	2,160.00
***	Item partially delivered					
26	Mission Valley Branch Library	06/30/2019	12 MON	775.00 MON	USD	9,300.00
	Landscape maintenance services for the period July 1, 2018 to					
The Term	s and Conditions of this Purchase Order are available at h	ttp://www.sandiego.g	ov/purchasing/vendor	SEE LA	AST I	PAGE
	IMPORTANT!			FOR		



PO No. 4500104360

Date: 09/05/2018

Page 5 of 8

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro		Exten	ded Price
	2019 per Agreement #460002398, Item 27.						
***	Item partially delivered						
27	Serra Mesa-Kearny Mesa Branch Library	06/30/2019	12 MON	677.00 M	MON	USD	8,124.00
	Landscape maintenance services for the period July 1, 2018 to 3 2019 per Agreement #460002398, Item 28.	June 30,					
***	Item partially delivered						
28	Serra Mesa Delivery	06/30/2019	12 MON	347.00 M	MON	USD	4,164.00
	Landscape maintenance services for the period July 1, 2018 to 3 2019 per Agreement #460002398, Item 29.	lune 30,					
****	Item partially delivered						
29	New Central Library	06/30/2019	12 MON	990.00 N	MON	USD	11,880.00
	Landscape maintenance services for the period July 1, 2018 to 3 2019 per Agreement #460002398, Item 30.	June 30,					
***	Item partially delivered						
30	New Logan Heights Library	06/30/2019	12 MON	863.00 N	ION	USD	10,356.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 31.	lune 30,					
***	Item partially delivered						
31	Skyline Hills Vacant Lots	06/30/2019	12 MON	358.00 N	/ON	USD	4,296.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 32.	lune 30,					
***	Item partially delivered						
32	San Carlos Vacant Lot	06/30/2019	12 MON	240.00 N	/ON	USD	2,880.00
	Landscape maintenance services for the period July 1, 2018 to 2019 per Agreement #460002398, Item 33.	lune 30,					
****	Item partially delivered						
33 The Terms	s and Conditions of this Purchase Order are available at ht	tp://www.sandiego.go	ov/purchasing/vendor	SFF	ΙΔ	STI	PAGE
	IMPORTANT!					TOT	
o ensure	e prompt payments, PO # must appear on all shipm o Billing Contact person at Bill-To address listed abo	ents and invoices;	all invoices must be	. •		. • •	- .



PO No. | 4500104360

FOR TOTAL

Date: 09/05/2018

Page 6 of 8

Line #	Serv#	tem ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Extraordinary Labo	r	06/30/2019	3,000 HR	20.00 HR	USD 60,000.00
	· ·	ance services for the period July 1, 2018 to tt #460002398, Item 34. 0092686	o June 30,			
	Dept. Contact: Rosita Ravelo 619-238-6644 rravelo@sandiego.					
		JOV ENTS: PURCHASE ORDERS EXECUTED	ON OR AFTER JANUAR	Y 1, 2015		
	is entering into a co or she is aware of th with such provisions A. PREVAILING W. 22.3019, constructi work performed und laws. For constructi exceeding \$25,000 work performed und contractor and its st wage laws including This requirement is pursuant to San Die Contractor must del classification of wor and pay the highest applies to workers w 1. Compliance with 1720 through 1861 subcontractors shal Contract are paid in determined by the I Relations (DIR). Th preconstruction pha inspection and land 1.1. Copies of such the City and are awa request. Copies of t found at http://www Contractor and its rate of per diem wa them available to ar 1.2. The wage rate If the published wag to be paid after the shall be in effect for rate refers to a prec expiration of the pul on file with the DIR, effective on the dat this Contract in the publication. If the p additional expiration which expiration da' successive predete date following the e last of such predete Contract, such wag 2. Penalties for Vio	n prevailing rate of per diem wages are on fiailable for inspection to any interested party he prevailing rate of per diem wages also nudir.ca.gov/OPRL/DPreWageDetermination. Ubcontractors shall post a copy of the prevages determination at each job site and shall ny interested party upon request. It is determined by the DIR refer to expiration greate does not refer to a predetermined wexpiration date, then the published rate of wether the fife of this Contract. If the published wage rate and the predetermined we such predetermined wage rate shall become in the fife of this Contract. If the published wage rate and the predetermined we such predetermined wage rate shall become in the predetermined wage rate shall become as following the expiration date and shall appeared the soccur during the life of this Contract, earmined wage rate shall apply to this Contract, earmined wage rates shall apply to this Contract printing the stall apply to the balance of the Contract and shall apply to the balance of the Contract and shall apply to the balance of the Contract and its subcontractors is	the hall comply ode section nance ng wage nulatively aintenance 5,000, the iiiling below. Wage the 22.4245. ach e Rate), Wage es. o sections or and its under this wages as ustrial gn and d to, file at on nay be htm. ailing I make dates. age rate vage nge pon age rate is ne oly to said orre rates, ch ct on the the f this tract. hall			
	paid less than the p the worker is emplo	nia Labor Code section 1775 in the event a revailing wage rate for the work or craft in v yed. This shall be in addition to any other	vhich			
The Terr		s allowed under Labor Code sections 1720 - this Purchase Order are available at h		v/purchasing/vendor		
	2 25	and a samuel of the area and area and area area.			SEE LA	ST PAGE

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above



PO No. 4500104360

Date: 09/05/2018

Page 7 of 8

ine#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
		ords. Contractor and its subcontractors shall comp	ly with			
	•	or Code section 1776, which generally requires kee	•			
		Il records, verifying and certifying payroll records,	and			
	•	vailable for inspection. Contractor shall require its	ita			
		to also comply with section 1776. Contractor and shall submit weekly certified payroll records online				
		based Labor Compliance Program. Contractor is re				
		subcontractors submit certified payroll records to				
	City. Contracto	r and their subcontractor(s) shall also furnish the				
		ed in Labor Code section 1776 directly to the Labo				
		in the manner required in Labor Code section 177				
		 Contractor and its subcontractors shall comply w or Code sections 1777.5, 1777.6 and 1777.7 conce 				
		nd wages of apprentices. Contractor shall be held	ining the			
		the compliance of their subcontractors with sectio	ns			
	1777.5, 1777.6	and 1777.7.				
		urs. Contractor and subcontractors shall comply w				
		or Code sections 1810 through 1815, including but	not			
		strict working hours on public works contracts to ay and forty hours a week, unless all hours worked	1 in			
	· ·	urs per day are compensated at not less than 1½ t				
		ay; and (ii) specify penalties to be imposed on desi				
		and subcontractors of \$25 per worker per day for e				
	the worker wor	ks more than 8 hours per day and 40 hours per we	ek in			
		ifornia Labor Code sections1810 through 1815.				
	•	rovisions for Subcontracts. Contractor shall include				
		by of the following provisions in any contract they e contractor: California Labor Code sections 1771, 1				
		77.5, 1810, 1813, 1815, 1860 and 1861.	771.1,			
		Section 1861 Certification. Contractor in accordar	ice with			
		or Code section 3700 is required to secure the payor				
	•	of its employees and by signing this Contract, Con	tractor			
		am aware of the provisions of Section 3700 of the				
		or Code which require every employer to be insured kers' compensation or to undertake self-insurance				
	•	th the provisions of that code, and I will comply with				
		ore commencing the performance of the work of this				
	Contract."	3				
		oliance Program. The City has its own Labor Comp				
		rized in August 2011 by the DIR. The City will with				
		ents when payroll records are delinquent or deeme				
		the City or other governmental entity, or it has bee er an investigation by the City or other government				
		erpayment(s) have occurred. For questions or assistance.				
		the City of San Diego's Equal Opportunity Contract				
	Department at					
		and Subcontractor Registration Requirements. This				
		mpliance monitoring and enforcement by the DIR. ubcontractor shall not be qualified to bid on, be list				
		al, subject to the requirements of Section 4104 of				
		t Code, or engage in the performance of any contra				
		defined in this chapter of the Labor Code unless				
	currently regist	ered and qualified to perform the work pursuant to				
		i. In accordance with Labor Code section 1771.1.(a	a), "[i]t			
		n of this section for an unregistered contractor to	and			
		at is authorized by Section 7029.1 of the Business ode or by Section 10164 or 2103.5 of the Public Co				
		I the contractor is registered to perform public work				
		ction 1725.5 at the time the contract is awarded."	•			
	9.1 A Contra	ctor's inadvertent error in listing a subcontractor when	no			
		d pursuant to Labor Code section 1725.5 in a resp				
		nall not be grounds for filing a bid protest or ground	ls			
	•	the bid non-responsive provided that any of the				
		: (1) the subcontractor is registered prior to bid thin twenty-four hours after the bid opening, the				
		s registered and has paid the penalty registration f	ee			
		oor Code section 1725.5; or (3) the subcontractor i				
e Terms	s and Condition	s of this Purchase Order are available at htt	p://www.sandiego.g	ov/purchasing/vendor		^-
					SEE LA	
		IMPORTANT!			FOR '	TOTAL
		IIIII OITITAITI				1 (<i>)</i> A
ensure	e promot navn	nents, PO # must appear on all shipme act person at <i>Bill-To</i> address listed abov	ents and invoices:	all invoices must be	1 010	IOIAL



PO No. 4500104360

Date: 09/05/2018

Page 8 of 8

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	replaced by another registered contractor pursuant to Public Contract Code section 4107. 9.2 A contract entered into with any contractor or subcontractor in violation of Labor Code section 1771.1(a) shall be subject to cancellation, provided that a contract for public work shall not be unlawful, void, or voidable solely due to the failure of the awarding body, contractor, or any subcontractor to comply with the requirements of section 1725.5 of this section. 9.3 By performing services detailed in this purchase order, Contractor is certifying that he or she has verified that all subcontractors used on this public works project are registered with the DIR in compliance with Labor Code sections 1771.1 and 1725.5, and Contractor shall provproof of registration to the City upon request.	ride			
***	Item partially delivered				
The Term	s and Conditions of this Purchase Order are available at http://ww	ww.sandiego.gov	/purchasing/vendor	Line Item Total \$	279,660.0
	IMPORTANT!			Tax \$	
o ensur	e prompt payments, PO # must appear on all shipments a o Billing Contact person at Bill-To address listed above	and invoices; a	II invoices must be	PO Total \$	279,660.0